Vo 7 — B A AR

@ TEIEME
A7l Ay 2 =7 FC i ATAT AT R | ASRE | AL
it a7 70 - 4| 2 1
FCHiT o 0 1 o | -3 | 3
2747 —VET 161 190 A ) 5
BiH FCkT- FCNZ'Los | KRETAT4—Vv| B | B%kE | BN
FCBBIE = ) 3 0 2
FCRNZ Lo ~ ~ 0 -2 3
1—2 0—1
xETrr—vr] O, . 6 2 1
i T AT IR A NEE SCH FC mer | S | Er
THT I P N 0 o | -11 | 3
AL = — 6 | 13 | 1
SCH FC 290 1f5 3 -2 2
@ iR 5) — BN R __ __
it rany R T | s | WE | doE | N
=7 o1 2"y I I
géﬂ”lé.ii?’/v%kw‘/“ﬂ? 190 490 6 5 1
s - 0 1 4 | 3
f‘ﬂ/zg47~/vﬁmﬂ Bﬁﬂz{%c%sisf: CMESCH FC Bl | FRRAE | AL
g%{gg%T»—/I/ETEH 1i2 392 3 0 5
Rerae. . N 3 1 6
C;%HzmSCH FC Qig 391 3 1 4
M pcmit T rcrios [ | MR | B | I
A - o 4o | 2 |7
FCH ] 2—2 2—0
B%ES%?CI\UTV‘/? 262 290 4 2 7
o 0ls 022 0 —4 9
@ i
B KETINT A= 2T — A
YRS Ay =7 21— A
75 3{ir RN EY 2=T 22— R
T ET WER BRK (RETATA—V%Ya=T 1—2A)




